Unit 1 Multiple Choice Practice ANS W ER K.Ey

Multiple Choice: Use may use a periodic table. No calculators.

Note: For all questions, assume that the temperature is 298 K, the pressure is 1.00 atmosphere, and solutions
are aqueous unless otherwise specified.

Directions: Each of the questions or incomplete statements below is followed by four suggested answers or
completions. Select the one that is best in each case and then fill in the corresponding circle on the answer

sheet.
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1. An element has 3 naturally occurring isotopes as shown in the mass spectrum above.
Which of the following best represents the estimated atomic mass of this element
based on the data provided? What is the identity of the element? - M0OSt hke(y Nédn

(A)20.00 amu - dogsn¥ acouwnt for masses other han 2o

(@)20.24 amu - 1Sstepes manly 22, ok some (v0) e ugher miass
~€)21.00 amu - |¥ $0% 20 and $07, 22

®)21.54 amu .| wore 22 than 20

2. The atomic mass of copper is 63.55 amu. Given that there are two naturally occurring
isotopes of copper, $3Cu and $3Cu, the natural abundance of the $3Cu isotope must

be approximately 63/ G4, S ©3.55 |c cloSer o 63
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107.9 g of silver; 70.0 g of zinc; 21.0 g of magnesium

3. The masses of three samples of three metals is listed above. Which of the following
correctly places the samples in order of decreasing number of atoms. 8/9 > Shy/)

(A)sil ) ) | e = 6.02 »x(0?3 Aows
ilver, zinc, magnesium )

S.cale ywg each samelé
(B) Silver, magnesium, zinc s of

@Zinc, silver, magnesium 10799 A‘?[ l”wlf\j_ o~ | md ﬁﬂ U /WHMj

(D)Magnesium, silver, zinc 167.81 9 7] 7

4. A compound contains 1.10 mol of K, 0.5l5 molgof C, and 1.65 mol of 0. Whatisthe [ msa[é.
Mb\/e_ empirical formula of this compound? Mﬂ
pat? 10ma K/o.55 =2 il K

(A)KCO

(B)KC20 0.5 Mo C/a»ss’ z | ma C

(O)kaCos

(D)K2COs |. @5 Mo 705; = 3 mel O

(E) KaCOs

2 N2Ha(g) + N20a4(g) = 3 Na(g) + 4 H20(g)

5. When 8.0 g of N2H4 (molar mass 32 g) and 92 g of N2O4 (molar mass 92 g) are mixed
together and react according to the equation above, what is the maximum mass of H,0
that can be produced?
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?./K3P04(aq) + %Fe(NOs)z(aq) - ... Fe3(POa)a(s) + éKNOg(aq)

6. What is the coefficient for KNOs(aqg) when the equation above is balanced with lowest
whole-number integers?

(A)1
(B)2
(C)4
6
() 12



7. A measured mass of an unreactive metal was dropped into a small graduated cylinder
half filled with water. The following measurements were made.

Mass of metal | 19.611 g
Volume of water before addition of metal | 12.4 mL
Volume of water after addition of metal | 14.9 mL

What is the density of the metal? ) jq ¢ | 3 %‘%\Zﬁlﬁgjt%
(A)7.8444g/mL  cENSItY = wags = ™. ) Figs = lowsh
(B)7.844 g/mL valume 2.5 wmL 4 1oha,
C)7.84 g/mL s FW_S

-8 g/mL Vdume = [{A mlL -12.YmlL =2.5 mL
) 8 g/mL -3 S;W‘m - [easr ¢ decinral places

8. The empirical formula for a compound is N2O. Which of the following could be a
molecular formula for the compound?

B N = Muihiele ofF He emplrical frmula
A)NsO

B)N:0s > Which of hese Aucs 4o an empirica |
(C) N4O3 FOnmuila of N2o 7

N 804

9. Potassium sulfide has a molar mass of 103 g/mol. How many moles of potassium sulfide
arein a 51.5 g sample of potassium sulfide?

(A)0.25 mol 5].5\0) %zSlewl K25 - 1
.50 mol /}03 ﬂ. 7

(C) 1.0 mol
(D)2.0 mol
(E) 6.0 x 10 mol

o~ Chade, of + |

10.A species with 11 protons and 10 electrons is

/T
(A)Ne -
dttmic # Is 1] = Ng
Na+
e

(D)Mg**



